Y, WAKNAGHAT
TEST -2 EXAMINATION- 2024
B.Tech-vI Semester (BT)
COURSE CODE(CREDITS): 18B11BT61] (04) MAX. MARKS: 25

COURSE NAME: Downstream Processing
COURSE INSTRUCTORS: Dr. Saurabh Bansal

MAX. TIME: I Hour 30 Minues

[CO-3] )
1. What do You understand by Adsorbent and Adsorbate?_ -

Differentiate between followings:

12]
3]

e

a) Adsorption and Liquid-Liquid Extraction

b) Surface Filtration and Deag-eng Filtration -+

~Ico-

3. a) How does the organic solvent cauge "t'.heﬂprotein precipitation? What js the major concern with the
organic solvents-indyced precipitation? [2]
b} The aliphatic alcohols with ..., (increase/decrease) in chain length ..... .. (increase/decrease)
the extent of protein. denaturation, 1]
4.  a) Which mod‘ei‘ofr liquid;liquid extraction is more efficient; Co-Current, Counter-Current and Cross-
Current, Justify for your answer., 12]
b} Which type of adsorption isotherm are followed by the adsorption of antibiotics, steroids onto
commonly used adsorbents? 1]
' [CO-5)
S. What do yoy understand by concentration polarization? How will it impact the ultrafiltration? How
will you resolve the 1ssue of concentration polarization? [3]
6. a)Draw g diagrammatic representation of by

asic steps involved in a liquid-liquid extraction. [2]

b) In aqueous two-phase CXtraction, if partition coefficient
protein is 3.0 mM in 350 L, calcylate the concentration in
is 90% and volume of liquid in the lower phase is 100 L,

=2, and if the total concentration of the
the top phase if the extraction efficiency

2]
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. What are the five major steps involved in any adsorption process? [2]
. a) In which scenarios is electrodialysis commonly employed? [2]
b) Whether using nanofiltration before microfiltration is better? Justify your answer. [2]

. 1f 95% of the product is removed from a broth containing 200 kg of it using a downstream process.
How much of the product get lost in Kgs? [1}
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